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AT A tﬁiﬂz 2ok tﬁiﬂz 2ok tﬁiﬂz 2ok tﬁiﬂz 2ok tﬁiﬂz 2ok
MmERL™ 36 -3.0 2 -37 19 -2.8 2 -4.6 59 -3.0
e 10 -3.0 2 -50 2 -6.8 14 -39
wB/Am 1 -4.9 1 -4.6 3 -4.3 1 -33 16 -4
AHBT 4 -5.7 1 -6.3 1 -9.1 6 —6.4
fHh™ 5 -4.6 1 -5.9 1 -57 7 -4.9
B3 16 -2 3 -45 19 -3.0
HEm 6 -4 3 —6.4 9 -5.3
Lollth 16 -4 4 -6.1 1 -5.2 21 -5.0
aEHW 6 0.7 1 2.2 2 -0.5 9 0.6
i B &t 110 -35 4 -25 38 -3.9 8 -58 160 -36
Ho S EPHT 5 —4.1 1 -3.9 6 -4.1
WOBLEE 4 -3.7 1 -4.8 5 -39
S ILIET 3 -46 3 -4.6
= EPET 3 -6.0 1 -5.4 4 -5.8
iR AT 4 -6.2 1 -7.0 5 -6.3
[LIIIET 3 -65 3 -6.5
A H)IET 8 4.2 1 -7.6 9 -4.6
EFii) 3 -58 3 -58
B =87 3 -55 1 -5.2 4 -5.4
B RET 3 -5.9 1 -6.2 4 -6.0
ENEa T 3 -22 1 -6.9 4 -3.4
FHTE~HET 4 -4.8 1 -5.1 5 -4.9
BEJIET 7 -4.0 1 -4.9 8 -4.1
=p=:) 6 -5.2 2 -6.3 8 -55
L+ E=EmAr 3 -36 1 -43 4 -38
I EHHT 3 -4.2 3 -4.2
AR s R HT 4 -9.2 1 -10.6 5 -95
X i BT 3 -15 3 -15
)| T 3 -6.3 1 -9.3 4 -741
deili#t 3 -4.1 3 -4.1
R AR HT 5 -7.8 1 -9.2 6 -8.1
BT # & 83 -5.2 0 16 —6.4 0 99 -5.4
B F 193 -4.2 4 -25 54 -4.6 8 -5.8 259 -43




